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Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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ID: 1
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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ID: 2
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.

r 2) r+17.767 > 19.
1) 0.00306122<m ) r+17.767 > 19.367

) . S22 4 ¢ 1z 30
AR S S
3) —19.6r<-43.12 4) 17.97x < 32.346
N S S S B S DRI T S S S
r
5) —>7.11765 6) > 0.805517
1.7 17.256
N fli é ll() lll 1I2 1I3 1I4 1I5 1I6 i N lll 1I2 1I3 1I4 1I5 1I6 1I7 1I8 ’
7) -16.1 +v>33 8) 19.4m < -277.42
\1I6 1I7 1I8 1I9 ZIO 2Il 2I2/ \—iS : —i6 : —i4 : —iZ : —iO =
9 m+1.7>-42 10) -26.433 >x-17.1
Y% 7 6 -5 -4 -3 -2 -1 N —;2 -20 -18 -16 147
11) n—-2.2<-10.9 r
12) ——<-0.670659
Attt > 16.7
-2 -1 -10 -9 -8 -7 -6 -5 . «
RPN R PR T M
13) -172n-20 14) -14.92>k—-19.72



Algebra 1
Assignment

Solve each inequality and graph its solution.

r
1) 0.00306122 < ——
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Algebra 1
Assignment

Name

ID: 3

Date

Period

Solve each inequality and graph its solution.

m
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ID: 3
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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ID: 4
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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ID: 4
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.

1) 254<m+16.5 2) —19.7k > 114.26
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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ID: 7
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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ID: 9
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.

1) v+199<84 2) —6.54<n+89
3) 25<v-33 4) -21.7>b-4.2
S0 1 23456 78 910 S0 -9 18 17 -6 15
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Algebra 1
Assignment

Solve each inequality and graph its solution.
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ID: 10
Algebra 1 Name

Assignment Date Period

Solve each inequality and graph its solution.
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Algebra 1
Assignment

Solve each inequality and graph its solution.

X
1) 1.16162 > —
9.9

ol —————>
6 7 8 9 10 11 12 13 14 15

3) —8.2v>47.56

‘.

10 9 8 -7 -6 -5 -4 -3

®
v

5) -5.72>1.1n
o S .

-10 -8 -6 -4 -2

A\ 4

7) x=75>-0.1

X
11) 0.323602 < ——
16.1

N

t t +@ d =9
3 4 5 6 7
13) -20.1>-42+m

€= } — } } >
-18 -17 -16 -15 -14 -13 -12

Name

1D: 10

Date

m
2) —0.408537 > ——
16.4

€= ; o— t t >

9 -8 -7 -6 -5 -4 -3

X
4) ——>0.215686
10.2

APl
-3 -2 -1 0 1 2 3 4

6) r+1.9<4.99

012345675
8) 244<x+18.3
& } } [ } =
3 4 5 6 7 8 9
3 k
10) ——>—
2 10
€= . . - —>
-17 -16 -15 -14 -13 -12

12) X - 14.44>-9.34

14) —7.1>r-18.7

G ——————>
8§ 9 10 11 12 13 14 15

Period



